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Annexure-A
Format
To,
Assistant Personnel Officer,
Mechanical Workshop, Samastipur

Subject:-Representation against the Provisional Answer Keys Published as on
17.01.2025 on the Website of E.C Railway/SPJ
¥ v v ok ok ok ok o ok ok ok o ok ek ok
R (Full Name), Dc.slgnallon ...........................
place of Posting....................... Challenge the key provided in connection with th written

Exam held on 10.01.2025 (Friday) to the post of Tech-Ill, Level-02 of Mechanical
Workshop/SPl.

Question No

Answer Key as Correct Answer As Rcason(s)- with
published on Website per Candidate Supporting
Documents

|
|
|
|

Signature:

Name (In Block Letter):
Designation:

Employee No:

Ticket No:

Station:



Mechanical Workshop/Samastipur
Exam for Selection of Tech-111, Level-02 against 25% 1Q

Duration-02 Hours Date-10.01.2025 Maximum Marks-85

Important Instructions:

1. Each question carries 0.85 mark. 1/3 marks will be deducted for every wrong answer.

2. Total 110 questions are given in this question paper. 100 questions are to be attempted.
Questions 01 to 90 are compulsory . Attempt either questions 91 to 100 or 101 to
110.

LY

Choose only one option in each question from the given 04 options.

4. Use only blue or black ball pen.

5. No cutting, overwriting, erasing or correction of answer is permitted. In all these cases
evaluation of the respective question will not be done.
necyet fAdern

1. UE U H 085 3d B | D Told SR B forg 1/3" 3 der e |

2. 9 9% U3 H @l 110 U 2| 100 WEA DY FA S 2| W 01 W 90 Afvard R
¥¥H 91 ¥ 100 AT 101 ¥ 110 ¥ W e (@ Ve &1 wAE |

3. Udld yeH H A T 04 Reedt § @ dadt e fAeey g |

4 @®ad el AT BTN dfcd U9 B ITANT B |

5 Gﬁﬁﬁmm,m,mmﬂmﬁmﬁ%iﬁmﬁm
Yg D1 Hodihd el B S |



1. POH of BOX N Wagon i
(a) 12(b) 09 (c) 18 (d;\%gn 1 done at the interval of ----=------- month.

BOXN FTPOH ... WTE F qWqTeaTTe 97 2T 8 |
(P)12 ()09 () 18 () 54

2 . .
oy P_?H of ICF Coach is done at the interval of
(a) 24 (b) 12 (¢) 18 (d) 30

ICF ¥IM FTPOH ... T AU T 2raT £ |
(P)24 (@) 12 (@) 18 ()30

------------ month.

3. Maximum Flange thickness of worn wheel profile is ............ L
(a) 35 (b) 16 (¢) 25 (d) 28.5

T S UTHTEH § o iy i w "rers
@)35 (@) 16 (M)25 (T)28.5

....... . 2 2|

4. Material of Floor sheet of BOXR wagon is ------==="""""
(a) Mild Steal (b) Corton Steal (c) Stainless Steel (d) Non of them

BOXR # 9w weie ot 1 #efa ........ : 5w _
(P)arzes =A (mmmm)éﬂﬁv@w () T | FIE TR

5. Wheel base of casnub bogie is ------=======""""" mm.
(a) 2000 (b) 2400 (c) 1200 (d) 900
Faaa anfl #1526 49 o UHTH EATE |

(@)2000 (&) 2400 () 1200 () 900

6. Length of anchor link i§ —--m-mmmm-s mm.
(a) 451 (b) 500 (c) 580 (d) None of these

v fore T AT AT E | .
(@)451 (&) 500 () 580 () ZaH § FIS ARl

7. Testing of alarm chain is done at -------==-~ Kg weight.

(a) 05 (b) 10 (c) 25(d) 20 .

PEIL s e AT Y. W T Y A
()05 (&) 10 (M 25 (M)20

8. Greasing of equalizing stay rod is done in----------=-=- schedule.
(@A (b)B()C(@AD |
e £ 7 T AT gre[e 7 Y AT B |

9. DCP Type fire extinguisher is suitable to extinguish ----------—--- fire.
(()a) Diesel (yb) Electric (¢) Petrol (d) All .
ﬁﬁﬁmww ......... AT AT 6 o 3T 2 |
@yfre= (@ BT M T2 (7 Ty




10. There are,.... Nos. of wheels in LHB bogie
() 02 (b) 03 (¢) 04 (d) 06
LHB ¥ra &t gy | wheels 71t # |
(@02 (&) 03 (M o4 (1) 06

1. Minimum buffer height of goods wagon i ----eee-....
(a)lO]O(h)lO?S(c)IIUS(d)QOS

T A & w v T BT # |
(%) 1030 @) 1075 (m) 1105 () 995

12. Minimum Wheel dia of Casnub Bogie is ~=eenemme--.. mm.
(a) lOOO(b)906(c) 1092 (d) 950

RS CEL I THTH EAT # |
(%) 1000 (&) 906 () 1092 () 950

I3. Condemn height of Elastomeric Pad i§ --eeeee . mm.
(a) 40 (b) 42 (¢) 46 (d) None

= N A faret 2
(F)40 (@) 42 (m) 46 () F1% 75

14, e bearing is used in UIC Bogie.
(a) Cylindrical (b) Spherical (¢) CTRB (d) None of these

- TATEHT IR F Farpfy FT 39T RRIE I
(a) TFATHIT (b) FreTHT (¢) CTRB (d) T4 & F7& 75



5. Permissible variation i Wheel

(@ 5(b) 10 () 13 (d) 25 dia of same casnub bogies of a wagon is --------=--- mm.
USEREE R LILE T T WA

' ' RRIECE i

(™ 5 (F1) 10 () 13 (F) 25 F = # T e fareft 21

16. Permissible limit of sh
flario I
(a) 35 (b) 50 (c) 16 (d) N“?\;pof??,t:eor wheel is

Wﬁi*?ﬁﬁmﬁﬁﬁ'ﬂlﬁm __________ - et 2
(a) 35 (b) 50 (c) 16 (d) T3 & Frf 75

17. A dimension of BOXN i§ cccooemeeee mm
(2) 70 % 2 (b) 70+2-0 (c) 50 + 2 (d)22 + 2 .
BOXN #1 s am9 —___ finfy 2

(@) 70 £ 2 (b) 70+2-0 (¢) 50 + 2 (d)22+2

18. In empty condition of BOXN Piston stroke is ------=-=--- mm.
() 75+10 (b) 8510 (c) 130£10 (d) 60£10
BOXN i &r+fy fRarfx # fees =1 frft 21

(@) 75£10 (b) 85+10 (c) 130£10 (d) 6010

19. BOXNHL feed pipe pressure is ===--------- Kg/Cm2
(a) 5 (b) 6 (¢) 3.8 (d) None of these
BOXNHL $T= 9127 &7 a7 <-crememe -~ Kg/Cm2®

(a) 5(b)6(c)3.8 (d) TAH A FIE ARl

20. Axle is checked by ------------ )

(a) DPT (b) UST (c) Wheel gauge (d) None of these
LELE DI | S ZreT $t FTd 21

(a) FrfH (b) TUAE (c) BV T (d) THH A F1E 7R

21. Track gauge distance on a straight track is ------------ mm.
(a) 1676+6 (b) 1600+2-1 (c) 1599 (d) None

e 3 o7 3 s AT e - fadt 21
(a) 1676+6 (b) 1600+2-1 (c) 1599 (d) F1E T

22. Centre pivot of Casnub Bogie is made of ------------
(a) Cast Iron (b) Cast steel (c) Mild Steel (d) Stainless Steel
¥ anft #1 #7 fEE e AR

(a)wm(b)wwmwmmmﬁwm

23. Maximum Wheel dia of UIC bogie is ------------ mm.
(a) 1000 (b) 990 (c) 1092 (d) 950
ars et At v sfardaw A S e firndy 2

() 1000 (1) 990 () 1092 (1) 950

. bearing is used in casnub bogie.
(a) Cylindrical (b) Spherical (¢) CTRB (d) None of these
........... S At 3t P 1 3w foban e 1

(2) SEATDR (b) TAER (c) CTRB (d) T78 A F Tal



25. Permissible Wheel dia difference of both casnub bogies of a wagon is

(@) S(h) 10(c) 13 (d) 25
A L R el T S—
Q@ s @ o @ os

., S is checked with tyre defect gauge.

(@) wheel defect (b) Buckle defect (¢) CBC defect (d) door defect
............ P! Sla TR QN A A & ot

(a) UFTT QX9 (b) B AW (¢) CBC A (d) TTATS 21N

27. Friction cofficient of K type composite brake block is
(@) 1.4 (b) 2.8 (¢) 1.6 (d) 0.25
K masmmammmwmm ............ 2

(@) 1.4 (b) 2.8 (¢) 1.6 (d) 0.25

28. Limit of flat tyre in Wagon is ----------- mm.
(a) 20 (b_) 50 (¢) 75 (d) 60

T N TR R @ T foreft 2

(a) 20 (b) 50 (¢) 75 (d) 60

29. A- dimension of BOXN i§ ===-e-eeeev mm.
(a) 85 (b) 22 (¢) 16 (d) 70

BOXN &1 A-3TOTH oo foredt 81

(a) 85(b)22(c)16(d) 70

30. Material of Floor sheet of BOXNHL i§ ----xnnveeeee-
(a) Mild Steal (b) Corton Steal (c) IRSM 44 (d) None of these

BOXNHL &1 GR Site & Faaft @ oo
(a)AISTS T (b) BIET ®IeT (c) IRSM 44 (d) 378 T B 7T

31. E- dimension of BOXN is
(a) 255 (b) 300 (¢) 555 (d) None of these.
E- BOXN &1 3OTH e ﬁ‘p:ﬂ%,
(a) 255 (b) 300 (c) 555 (d) 379 & P13 gt

32. CBC knuckle is divided into............

(a)3(b)4(c)2(d)5 _
A TFa D &nil H favfora fovar mar &
@3 @ha@H2@Ehs

33. The colour of BPC of CC rake is................ .
(a)Yellow (b) Red (c) Green (d) None of these.

I ECE LI IR L o
(a) OYeTT (b) AT (c) B (d) §TH I B2 87|

34. The colour of BPC of Premium rakes is ............... ...
(a)Yellow (b) Red (c¢) Green (d) None of these.

fftgrs S dddft s o
(a) G (b) AT (c) &Y (d) §7H | P 7T

;. . SR is the Maintenance manual of Casnub bogie
(a) G 97 (b) G95 (¢) G 72 (d) None of these.

FEd anft &1 T@vETa Ao 2



(@) G 97 (b) G95 (¢) G 75

(D T A &g 7y,

hance map,,
95 (¢) G 70

36. The Mainte ™ ,
@) G 97 (b) al o BOXN

Wagon fitted with Casnub bogie
(d) None of ()

ese,

&1 @@ Nqae
o5 (¥h s 7, t@)r—!ﬂﬂaﬁ’l{?:f?
37. Maximum ac

Cumulation of LAPis
muma(;t‘n 200 (c) 300 (qy400

ey @
(@ 100 @& 200 & 300 & 400

(T) Sft 97 (afty

_days

38. Paternity leave for mal
(@ 5 (b 10 (¢) 15 (d) 20

Y Yol SRuRgEomem  RAFRwwmE
@ s @10 @15 @) 20

¢ Railway employee is eligible for _ days,

39. The Standard Form (SF) used for major penalty charge sheet is
(@) SFS  (b)SF1 (c)SF1 (d)SF3

WS TS 319 O3 & o I R oY aren A W9E (THu) %
(@) THUS 5 (&) THUD | () waws | (S s 3

40. Maximum number of dependents can be included in a pass / PTO
@2 (b3 (©4 @1

T Ure/dietsit A siftreran b anfi o) e favan s waan 29
@2 @3 @4 @H

41. LAP is deposited at the rate of
A)55B)2C)3D)25

AU #) U He A f&A & R @ v frar aman 21
T ssah2dh)3 dhas

days in a month.

42. What is the permissible time limit for preferring a revision petition to the revising Authority?
(a)60days (b) 45 days (c) 90 days (d) none

HM WSRO & FHe Wil e Tegd H3 & R e wwmg Sma 2
(a)60 & (b)45 f&A ()90 & ()% e

43.1027.05 - 314.005 + 112.25 =2
(a) 825.095 (b) 825.295 (c) 825305 (d) 1024.2526

44.758 - = 343 which of the following numbers shall come in the blank space ?
(a)424 (b)415 (c)412 (d)310

758 - e = 343 Frafafed 4 3 o @ e frag =M w oy
(a) 424 (b)415(c)412(d)310

45. If cost of 2m pipe is Rs.12/- then what is the cost of 50m pipe ?
(a) Rs.380/-  (b) Rs.350/- (c) Rs.330/- (d) Rs.300/-

a2 2 Hiex Urgy 1 AT 12 ¥ R & 50 Hex yrgy &) wwre @ R
() 380 T (@) 350 TTA (@) 330 TG (&Y 300 T



46. Value of XIVis oo
@2 (1§ (e 16 d) 14

XIVHIHE ... |
@ 20 15(e) 16(d) 4

47, Plural form of Man is.. ..
(a) Mens. (b) Men, {L)Manu (d)Muns

48. Pick the correct spelling.
(a) Educasion. (b) Educashion. (¢) Fducassion. (d) Education.

49.586 + 36 -26= ?
(@) 659 (b)956 (c) 596 (d) None of the above

50.25X25X4="?
(a) 256 (b) 526 (c) 625 (d) None of the above

SLLQ215-16)x3="?
(a) 597 (b)975 (c) 795 (d) None of the above

52. The largest 5 digit number with different digit is...........
(a) 99999 (b) 98765 (c) 99998 (d) 56798
faftra sie) areht wa 7t 5 ofp) P TV B......

(a) 99999 (b) 98765 (c) 99998 (d) 56798

53. What is the planetary position of the Earth in Solar system ?
(@3 (b) 4 (©5 (6
ARwed  qudt 3wt fRufa 7 g2

(a) 3(b)4(c)5(d)6

54. What is the shortcut of copy in computer ??
(a) Ctrl+C (b) Ctrl+V (c) Ctrl+Z (d) Ctrl+X

SR H BN B &1 AedHe 187
(a) Ctrl+C (b) Ctrl+V (c) Ctrl+Z (d) Ctrl+X

55. What is the shortcut of paste in computer ??
(a) Ctrl+C (..b) Ctrl+V (c¢) Ctrl+Z (d) Ctrl+X
T B B 1 Wehe 71 g7

(a) Ctrl+C (b) Ctrl+V (c) Ctrl+Z (d) Ctrl+X

56. How many types of standard forms that are used while initiating action against any Railway employee

under D&A Rules, 1968.
(a) One (b) Five (c)Eleven (d) Seven

208 T, 1968 & ded frelt i Yo e & fReme
T G P U e w8 t L PRATE Y= Fa G0 [ IR &
(@) & (&) uiE (@) @RE (3 Wi

57. Review of suspension cases is done
(a) After 4 months (b) After 3 months (c) After 2 months (d) None

e Arae! 31 GHiEN P a8
(a) TEIA & TG (b) 3 TEA S AT (c) 2 7R & 771G (o) B 7y

58. What is the retirement age?
a) 58 years b) 55 years c) 62 years d) 60 years



A & sy & @y
1) S8 b) 55 A ¢) 62 T d) 60 T

SQ.JWhIat is the SI unit of force?
(a) Joule (b) Newton «€p ‘

asc w
ﬁaﬁmm{m?.’ (W

(a) 9 (b) gEq () UREHH (4) are

60.What is the main purpose of lubrication in machinery?

(a) To cool the machinery (b) To enhance electrical conductivity  (¢) To increase friction  (d) To
reduce wear and tear

mﬁwmﬂ'@ﬁmm%)
(a) TR B 31 B (b) Rigy Trarda 76T () TH0 GG (d) T2-FT B HH AT

61. ﬁhc property of a material which enables it to resist fracture due to impact loads is
(a) elasticity (b) endurance (c) strength  (d) toughness

freh vemd &1 7% 7o S IR yuTE HR F HRO g A T4 8L B

(a) T (b) Tg-T=fteran (c) e (d) PARaT

62. Which of the following is a prime number?
(@21 (b)29 (¢)35 (d)39

PrafafEa & & #1 @ snrea Tem ¥

(a) 21 (b) 29 (c) 35 (d) 39

63. Which welding process uses a non-consumable electrode?

(a) TIG welding (b) MIG welding (c) Stick welding (d) Flux-cored welding

B It e uitear & R-IUHIST FAaers BT ITUIT T STl 82

(&) Aandeh AT @) Trandst AT @) e AT (3iR) wie-HR A

64. What is the process of joining metals using a filler material that has a lower melting point called?
(a) Casting (b) Welding (c) Brazing (d) Forging

HT TS T8 11 Terd 1 IUaN S UG B s B bl B 1 Hed o7
(a) BIET (b) AT (c) JFHT () BT

65. What is the new name of the major social media platform formerly known as Twitter?
(a) X (b) Tweet Space (c) Chirp (d) Twit Net

Rrex & A & uftrg v Arrd AT e &1 T A I Ee
(a) X (b) g1 & (¢) fard (o) fge €

66. Which element has the chemical symbol ‘Au’?
(a) Silver (b) Iron (¢) Aluminum (d) Gold

fFa d@ & THaS Udid Au' 82

(a) AN (b) BT (c) TeGMATATH (d) AT

67. Which is the smallest country in the world by Iapd area?
(a) Monaco (b) Nauru (¢) Vatican City (d) San Marino

yftt A & feaTa @ g &1 Had BT 3 S H &2
(a) TATE (b) ATTF (c) AT A (d) 37 ARAT

68. Which gas is most abundant in Earth’s atmosphere?



‘arbon Diu,‘ig;—g a?

i . Oxygen (d) ¢
(a) Nitrogen (b) Hydrogen ¢) OX} ﬂ?ﬂmﬂ
o M

¥ gz A HH
fmﬂm(h}m(cmﬂﬂﬂﬁq(d)

ing 1?7
e metal by rotating a 100
69. Which machine is used to cut unq .slmp.n.nu e
(a) Lathe (b) Milling Machincaﬂ(c) Frill Press (a(;j’:)' Band » - %?
F17 B gei= B JuH0 B G A Y 3 23 %
Al Ryfei T () fopet 94 (d) 98 1 I e

70. What does the term “TPI" stand for in thread m
(a) Threads Per Inch (b) Taps Per Inch (¢) Tolerance

0 |7 F *TPI" U 1 T 31 7 | _
(a) %mﬁ(b)ﬁmﬁ(c)mmﬁ(d)aﬁuﬁrﬁ
71. Which tool is used to ensure the alignment of a shaft’ Gauge
(a) Dial Indicator (b) Venire Calig%&h%;éometer (d)a";"rhread aug %9
CIRIED) H SUP fargT STl &7
@ AT

Y &F @ Bl
(T) ST Efedex (@ AR B (@) TrEw iR

easurement?
per Inch (d) Teeth Per Inch

72. Which of the following is not type of leave in IR?
(a)Paternity leave (b) Leave not due (c) Quarantine Ieavg (d) Study leave

Profaf@a & | 319 91 yRdlg ¥a 3 g2l &1 TR el 62
(a) TG @B (b) THTAT Gl (c) GTRIY GBI (d) AT HIDT

73. What is the codal life of lathes or boring machines, working on double shifts?

(a) 05 year’s (b) 10 year's (c) 15 year’s (d) 09 year’s i
0 g & & S aTelt oY a1 ST 7Rl BT Hied offa= &1 82

(a) 05T (b) 10 TN (c) 15 T (d) 09 T

74. Which wagon is used to carry petroleum products?

(a) BOBR (b) BCN (c) BTPN (d) BOST

UIferas IdTG] il o W & oY fbd a7 &1 Iuai fasar wirar @9
(a) BOBR (b) BCN (c) BTPN (d) BOST

75. What is maximum axle load of BOXNHL wagon?
(a)229T(b)209T(c)249T(d)219T

BOXNHL 37 &7 Af¥HaH &R 4R &1 22

(a) 229T(b)209T(c)249T(d)219T

76. Which wagon is best suited for carrying cement bags?
(a)BRN (b) BCN (¢) BLC (d) BOXNHL

e ) ARG A S & forg 1 1 27 I 2

(a)BRN (b) BCN (c) BLC (d) BOXNHL

77. What does T’ stand for in EOT crane?
(a)Transporting (b) Towing (c) Tracking (d) Traveling

S5 353 2 "2 o1 e e B
() aftag (@ A0 @) ¢ (@) o

78. How many man-hours qualify as C-category repair?




(a)Less than § (byM
) ore tha C
n 100 (¢) 8 1o 100 (d) None of the above

Tad WA & w4 A iy @y
& () lonﬁéﬂ'ﬂ'a;(!ﬁ)sﬁmma)agﬁmaﬂﬂﬁﬁﬂ

79. When was Samasii
< ast w i
(2)1956 (b) 1878 (¢) I:?.’,u';(d)o:';mup blshed?

(a)1956 (b)1878 (¢)1927 (d)lm b

80. \‘\'ha?.l is the full form of PCME?
a. Pn_ncnpal Central Mechanical Er;' in
b. Prime Chief Mec Ao

hanical Eng;
‘ ngineer
¢. Prime Centra| Mechanical Engineer

d. Princi ;TChief Mechanigal Engineer
‘ﬂ@rm% PUEiEE::
a.ﬁﬁw%aﬁ%ﬁm%wﬁm

b. UI$H 9% Ahfiwa eiftR

c. UTSH ded Adfaa Seifm

d. fifua die A Rea st

81. What is the smallest prime number?
(@)2 (b) 1 (c)3(d)4

STHTST & &1 22
(a)2(b) 1 (c)3(d) 4

82. What is the smallest natural number?
(@2 (b)1 (c)3(d)4

T BI Ui & R e
(a)2(b) 1 (c)3(d)4

83. What is 20% of 20?
(a)I5(b) 10 (c)5(d) 4
20 HT 20% F1 82
(a)15(b)10(c)5(d) 4

84. What is the value of 497x16-2?
(a)6958 (b) 6895 (c) 7950 (d) 7590
497x16-2 1 A T 8?

(a)6958 (b) 6895 (¢) 7950 (d) 7590

85. How to extinguish a fire originated from oil?
a. Foam fire extinguisher

b. Water

¢. CTC fire extinguisher

d. Soda acid fire extinguisher

e @ I 3 F T
2. BH JUHS

b. T

c. @AW s

d. Qe IS St



86. How to extinguisher electrical fire”
a. Foam fire extinguisher

b. Water

¢. CTC fire extinguisher

d. Soda acid fire extinguisher

faroreh @ o @) 3 gt

a. B HfAgms

b. Ut

c. Wi aiffmmes

d. 931 TS sifdmmees

87. Which shoe should be worn during welding?
a. Cloth shoe

b. Slippers

c. Leather shoe

d. Plastic shoe

38T & GRM B 1 e U AW
a. BUS &1 @l

b.aa:éa

C. CaRGl

d. TR &1 el

88. What should be the colour of welding booth walls?
(a)Blue (b) Green (c) White (d) Black

AT gy Bt fart &1 &1 7 g AW

(a) T (b) BT (c) WG (d) DI

89. Which of the following is not safety equipment for welders?
(a)Bench-vice (b) Apron (c) Gloves (d) Safety Valves

fRafefd # | @14 91 dceR & fore qran Juawo 3¢ 22
(a) 99-ATEH (b) TH (c) TEIM (d) Y& aTed

90. How is the acetylene cylinder kept during welding?
(a) Inclined (b) Inverted (c) Horizontal (d) Vertical

afeEn & 2R iR Ridist ) & v o 2
(a) BT (b) IeeT (c) &f (d) Taaa

91. Jaw plates of bench-vice are made of?

(a)Mild Steel (b) High Speed Steel (c) Cast Iron (d) Tool Stee]
39,9159 B 592 P Se R T Bt

()FTETS T (b)FTE TS el (o) TR (0)7d ey

92. What is process of inc:reasing toughr?e.ss and reducing brittleness of steel called?
(a)Annealing (b) Hardening (c) Normalizing (d) Tempering
mwﬁmmmmamﬂmﬁmm%

(a) TR (b) BTEFHT (c) 3T (d) 2rafan '

93. Chisels are made of which material?
(a) High speed steel (b) High carbon steel (c) Cast Iron (d) Tungste ol
i}?ﬂmﬂzﬂfﬂﬁiﬁ?ﬁs:’ n stee
(a) TS TS T (b) T BT T (c) B AT (d) ez 5
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| " e, el department of Indian railways”

b. Keeping of accounts
¢. Maintenance of fixed assets
d. Human resource manage
gement
MR Y & R R e g m @
o §91 B JATEA ‘
b. TG-S T
¢. 3T YRG! &1 Y@@Ta
d. ATd J9IYE yEuT

95, \‘v\'_hich form is used for Minor Penalty?

(a) SF-11  (b)SF-5 (¢)SF-9 (d) SF-I

TTEeR QT2 B Foru fope T oot g faba wirer @
(T) THUE- 11 (S THUS- 5 () TEUe-9 (S Te-|

96. Which of the following is not a penalty under D&A Rules?
a. Censure

b. The recovery from pay of any pecuniary loss

c. Stoppage of Pass

d. Warning
@@Qﬁﬂﬂﬁaﬁﬁﬁaﬁf@ﬁﬂﬁaﬁ?mdgﬁﬁ?

a e

b el 1t o T B aa A T

c. g A5

d. Farat

97 How much is difference between boiling and freezing point of water in Celsius?
(a) 90 *C (b) 100 *C (c) 0 *C (d) 180 *C

A & ot & YIS R fewie & dia R FR 2

(a) 90 *C (b) 100 *C (c) 0 *C (d) 180 *C

98. Which of the following is a flat wagon?

(a) BOXN-HL (b) BCN (c) BVCM (d) BRN
QP T wRT IHE?

(a) BOXN-HL (b) BCN (c) BVCM (d) BRN

99. What is load capacity of BOXN-HL wagons?

(a) 65.55 MT (b) 75.22 MT (c) 70.88 MT (d) 91.66 MT

BOXN-HL Maﬂmmm%f;
(a) 65.55MT (b) 7522 MT (c) 70.88 MT (d) 91.66 MT

100, How many | HAP are added for each year of service?
(a) 10 (b) 15(€) 20 (d) 30

W%Wﬁ%ﬁaﬁmﬁm‘ﬂaﬂ?mﬂg?
@ 10 @) 15 @ 20 @ 30
101. Which state of the following does not fall in “B" rajbhasha region?

(a) Gujarat (b) Punjab (¢c) Himachal Pradesh (d) Maharashtra
A3 @A @ @ SHTST & 7§ 78T oe &2



(@) TorTa (& v () fRmrae uew (@) meRIy

102. When was Rajbhasha Aayog established?
(a) 1957 (b) 1956 (c) 1955 (d) 1965

RTSTHTST HTGNT Y RITGT FHd Y T80

(@ 1957 (&) 1956 () 1955 (1) 1965

103. \.Ah/hen is Vishwa Hindi Diwas celebrated?
(a) 107 January (b) 21" May (c) 21™ June (d) 10 October

fay R Raw s T s 2
(a) 10 G (b) 21 7F () 21 [ (d) 10 ISR

104, Oﬂ.':cial language rule 1976 is not applicable in which state?
(a) Tamil Nadu (b) Goa (c) Arunachal Pradesh (d) Jammu-Kashmir

TSTHTST 99 1976 far e & amp et 22
(a) BTG (b) T (c) BV W (d) g HRHR

105. How many languages are included in 8" schedule?
(a) 8 (b) 22 (€)25(d)30
8l STt B fbat wmaTd enfiye 29

(a) 8(b)22(c)25(d) 30

106. ISTHTYT F1 TS HrdHH 60 Ty gRT SR} foar ST @ 2
(P) X HATG (@) fad vare (M) g HAE (6) & WA

107. Heig Rt affa & sme HF g 82
(@) faa a5t (@) gy w93t (M e AR () e

108. HId Y P Il HINT FT§ 2
) SRl fordh & et ) Rish Rt A R=) o) 2t Rt A Rt ) vt e 4 e

109. Which of the following states fall in Rajbhasha Region C ?
(a)Bihar (b) Punjab (c) Chhattisgarh (d) Odisha _
Profafaa 3 @ S I Tog IS 8 ¢ H 31d 82

(a) FABR (b) T9TH (c) BTG (d) SfE=Mm

110. Proficiency in Hindi is mentioned in which Rajbhasha Rule ?
(a)Rule 8 (b) Rule 9 (c) Rule 10 (d) Rule 11

fet B wdtora &1 Ieera faha arHTe faw F faan man @
(a) frgm 8 (b) w9 () Fra| 10 (a) FATm 11
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